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PAIR OF STRAIGHT LINES

Problem Set 1 Multiple Choice Questions

1. The angle between the lines given by the equation
Ay? + (1 — )\2)wy —Az?2 =0is

A.45°

B.60°

C.90°

D.15°

Answer: C


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_UvY4MKGMxZoW

° Watch Video Solution

2. The angle between the pair of
y?sin? 0 — zysin’ 0 + 22 (cos2 0 — 1) =0is

Am/3

B.7w/4

C.2m/3

D. none of these

Answer: D

striaght

lines

o Watch Video Solution

3. The angle between the straight lines 2% + 4zy + y*> = 01is

A.30°

B.45°


https://dl.doubtnut.com/l/_UvY4MKGMxZoW
https://dl.doubtnut.com/l/_sFzYnnLmd3dT
https://dl.doubtnut.com/l/_OTmnTEkYf2hw

C.60°

D.90°

Answer: C

° Watch Video Solution

4.The lines given by the equation (y2

a triangle which is
A. equilateral
B. isosceles
C.right angled

D. obtuse angled

Answer: C

—4wy—x2)(m—|—y—1) = 0 form

° Watch Video Solution



https://dl.doubtnut.com/l/_OTmnTEkYf2hw
https://dl.doubtnut.com/l/_sjC1poSvJp1T
https://dl.doubtnut.com/l/_9nPGw8CL9xjQ

5. The angle between the lines given by the equation

ay’® + (1 — a2)xy — ax? = 0is same as the angle between the lines

A5z? + 22y —3y> =0
B. 5z + 16zy + 5y? = 0
Czy=20

D.22 — 22y — 3y =0

Answer: C

o Watch Video Solution

6. The angle between the pair of lines given by the equation
:c2—}—2:cy—y2:0is

Am/3

B.m/6

Cm/2


https://dl.doubtnut.com/l/_9nPGw8CL9xjQ
https://dl.doubtnut.com/l/_Erh2UXpS3l3V

D.0

Answer: C

° Watch Video Solution

7. Which of the following pair of straight lines intersect at right angle?

A.2z% = y(z + 2y)
B.(z + ) = z(y + 3z)
C.2y(z +vy) =2y

D.y= — + 2z

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Erh2UXpS3l3V
https://dl.doubtnut.com/l/_O5M5iZ5hbGL9

8. Prove that the straight lines joining the origin to the point of
intersection of the straight line hx + ky = 2hk and the curve
(x — k) + (y—h)>=c* are perpendicular to each other if

h? + k=

A.O0

Answer: C

o Watch Video Solution

9. If the straight lines joining origin to the points of intersections of the
line z+y=1 with the curve z’+3y°+z—-2y—m=0 are

perpendicular to each other than the value of m should be


https://dl.doubtnut.com/l/_BdpNHTTadjlC
https://dl.doubtnut.com/l/_h6rVscSfusnx

A0

B.1/2

C.1

Answer: B

o Watch Video Solution

10. The straight lines joining origin to the points of intersection of the
straight line 3 —y—2=0 and the curve
7x? — dzy + 8y* + 2z — 4y — 8 = O are inclined to each other at angle

Am/4

B.m/3

Cm/2

D. none of these


https://dl.doubtnut.com/l/_h6rVscSfusnx
https://dl.doubtnut.com/l/_anrUX8ugI9jC

Answer: C

° Watch Video Solution

11. The lines joining the origin to the points of intersection of the curve
ax? + 2hxy + by® + 29z = 0

and a;z2% + 2bjzy + b1y2 + 2g1z = O0are L then

A a+b a1+b
' 91 g

B.(a +b)g1 = (a1 +by)g
C.(a—0b)g= (a1 —b)g

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_anrUX8ugI9jC
https://dl.doubtnut.com/l/_o6de73bv1G7L

12. The lines joining the origin to the points of intersection of the line
4z — 3y = 10 with the circle 2% 4+ y*> 4+ 3z — 6y — 20 = 0 are mutually
perpendicular.

A. parallel

B. perpendicular

C.inclined at the angle of 45°

D. nione

Answer: A

o Watch Video Solution

13. Show that all chords of the curve 3z* — y% — 2z + 4y = 0, which
subtend a right angle at the origin, pass through a fixed point. Find the

coordinates of the point.

A (1,-2)


https://dl.doubtnut.com/l/_DVTWL72aEZlV
https://dl.doubtnut.com/l/_a1iIARe8eVAQ

B. (1,2)

C.(-1,2)

D. (-1,:2)

Answer: A

° Watch Video Solution

14.if h? = ab, then the lines represented by az?® + 2hxy + by = O are

A. parallel
B. perpendicular
C. coincident

D. none of these

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_a1iIARe8eVAQ
https://dl.doubtnut.com/l/_tnEMyhEjPXA8
https://dl.doubtnut.com/l/_9Iw4jEj1Lss8

15. The angle between the pair of straight lines 2 + 4y*> — 7Tzy = O/is
A.tan"1(1/3)
B.tan '(1/2)
C.tan"'(,/3) /5)

D.tan"'(5/4/3)

Answer: C

o Watch Video Solution

16. The difference of tangents of the angles which the lines given by

2

2 ('can2 a + cos® a) — 2zytana + y2 sin” @ = 0 make with the x -axis is

A1l
B.2
C.sin 260

D.2sinf


https://dl.doubtnut.com/l/_9Iw4jEj1Lss8
https://dl.doubtnut.com/l/_utnPknY9emC9

Answer: B

° Watch Video Solution

17. If the slope of the lines given by a?z® + 2hzy + b*y* = 0 be three

times of the other, then h is equal to

A.2,/3ab

B. —2,/3ab

Answer: C::D

° Watch Video Solution

18. The equation az? = 2hzy + by? = 0 represented a pair of coincident

lines through the origin if


https://dl.doubtnut.com/l/_utnPknY9emC9
https://dl.doubtnut.com/l/_5OL8idt9Qhjt
https://dl.doubtnut.com/l/_B34lhuBqv1kv

A h? = ab

B.2h = ab

C.a = bh

D.b =ah
Answer: A

o Watch Video Solution

19. If the sum of the slopes of the lines given by x? — 2cxy — Ty = 0is

four times their product then c has the value

Al



https://dl.doubtnut.com/l/_B34lhuBqv1kv
https://dl.doubtnut.com/l/_ars9GAqq0LPx

| ° Watch Video Solution

20. If one of the lines given by

622 — xy + 4cy® = 0is 3z + 4y = 0, then c=

Al

Answer: D

° Watch Video Solution

21. The straight lines
(A2 — 332):22 + 8ABXy + (B2 — 3Az)y2 =0 form with the line

Az + By + C = 0 an equilateral triangle of area


https://dl.doubtnut.com/l/_ars9GAqq0LPx
https://dl.doubtnut.com/l/_xFP7Nn2GiBfq
https://dl.doubtnut.com/l/_OJkCRM6KgYLE

V2. (A% + B?)
V3.(A2+ BY)

C2

C———=
A? + B?

D. none of these

Answer: B

o Watch Video Solution

22. The angle between the straight lines represented by

(z® + y2)sin2a = (zcosa — ysina)’ is

B. 2«
C.m— 2«

D. none of these

Answer: B::C



https://dl.doubtnut.com/l/_OJkCRM6KgYLE
https://dl.doubtnut.com/l/_ubhdWnQ5cuqg

I o Watch Video Solution

23. Equation of pair of straight lines drawn thrugh (1,1) and perpendicular
to the pair of lines 3z% — Tey — 2> = 0O'is
A2z + Ty —1lz +6=0
B.2(z —1)°+7(z —1)(y—1) —3y* =0
C2z—1)7+7z-1)(y—-1)+3y—1>=0

D. none of these

Answer: D

° Watch Video Solution

24, Two of the lines represented by the equation

az® + 3bx? = 3caxy® + dy’ = 0 will be perpendicular if

A.a®+d? +3(ac+bd) =0


https://dl.doubtnut.com/l/_ubhdWnQ5cuqg
https://dl.doubtnut.com/l/_4612Lc4Z0gs5
https://dl.doubtnut.com/l/_9qbvNc2OXXnx

B.a” +d* + 3(ac + bd) = 0
C.a* +d* + 3(ac — bd) = 0

D. none of these

Answer: A

° View Text Solution

25. Equation az® — 9yz® — y®z + 4y> = 0 represents three straight

lines. If two of the lines are perpendicular then a=

A5

Answer: A::D

° Watch Video Solution



https://dl.doubtnut.com/l/_9qbvNc2OXXnx
https://dl.doubtnut.com/l/_80q6nJh8rLCO

26. Area of the triangle formed by the lines y* — 9zy + 18z® = 0 and
y=29is

A.27/4

B.O

C.9/3

D. 27

Answer: A

° Watch Video Solution

27. The equation 32> —8xy—3y>  =0and o +2y =3 represent the

sides of a triangle which is

A. equilateral

B. right angled


https://dl.doubtnut.com/l/_80q6nJh8rLCO
https://dl.doubtnut.com/l/_UuR8dLeuR5PL
https://dl.doubtnut.com/l/_K1lQtbg8UH7v

C.isosceles

D. isosceles rt. Angled

Answer: D

° Watch Video Solution

28. If a pair of lines z? — 2px — y? = 0 and z? — 2gzy — y? = 0 is such

that each pair bisects the angle between the other pair, then

Apg= —1
B.pg =1
1 1
C—+—=0
b q
1 1
D.—— —=0
b q
Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_K1lQtbg8UH7v
https://dl.doubtnut.com/l/_WcybJxD11aBC
https://dl.doubtnut.com/l/_yOVuebVLuH4c

29. The two sets of pair of lines given bya,:r2 —2zy+ by’ =0 and
be? — 2xy + ay® = 0 be such that each pair bisects the angle between

the other pair,

Aa—b=2
B.a+b=0
Ca+b=2
D.a—b= —2

Answer: A::B::D

o Watch Video Solution

30. If the pair of straight lines az®+ 2hzy —ay® =0 and
bz + 2gzy — by® = 0 be such that each bisects the angle between the

other then

A.ag+bh =0


https://dl.doubtnut.com/l/_yOVuebVLuH4c
https://dl.doubtnut.com/l/_cOtq3kIXzylp

B.bg+ah =0

C.gh+ab=0
D.h2 —ab=0
Answer: C

° Watch Video Solution

31.1f one of the lines of the pair az® + 2hzy + by> = 0 bisects the angle

between positive direction of the axes, then a, b and h satisfy the relation.

A.a+b=2h|
B.a+b= —2h
Ca—b= —2|h|

D. (a — b)? = 4h?

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_cOtq3kIXzylp
https://dl.doubtnut.com/l/_5KSl5LABZfgA

32. The given between one of the lines give by az?® + 2hzy + by> =0
and one of the lines az® + 2hay + by® + A(z® + y*) = Ois equal to the
angle between the other two lines of the system then A=

A.2

B.3

C.4

D. any real number

Answer: D

o Watch Video Solution

33. The equation to the pair of lines through the origin which are

perpendicular to the lines represented by ax? + 2hzy + by®> = 01is

A. bz + 2hxy + ay® = 0


https://dl.doubtnut.com/l/_5KSl5LABZfgA
https://dl.doubtnut.com/l/_mVD41unpF4vS
https://dl.doubtnut.com/l/_aTwfNdswVa3i

B.bz® + 2hay — bh% = 0
C.bz? — 2hazy +ay® =0

D. none of these

Answer: C

° Watch Video Solution

34. The image of the pair of lines represented by az? + 2hzy + by®> = 0
by the line mirror y=0 is

A az® — 2hzy+by? =0

B.ax? — 2hay — by®> =0

C.bz? — 2hzy +ay® =0

D. bz? + 2hzy + ay® = 0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aTwfNdswVa3i
https://dl.doubtnut.com/l/_LdZaDaMzPAff

35.32% 4 8zy — 3y> = 0 represents a pair of lines AB and BC

322 4 8zy — 3y? + 2z — 4y — 1 = 0 represents two lines CD and DA.
A.The equation of CD is ............
B. The nature of the quadrilateral ABCD is ...
C. Area of quadrilaterla is.......

D. The coordinates of point D are....

Answer: A::C::D

° Watch Video Solution

Problem Set 1 True And False

2

1.Each of the lines given by the equation (z1y — zy;)? = a (2% +y?) is

at a distance d from the point (z1, y).

o Watch Video Solution



https://dl.doubtnut.com/l/_LdZaDaMzPAff
https://dl.doubtnut.com/l/_5XnJiqNOt1WZ
https://dl.doubtnut.com/l/_eRAGYAmpbNtj

2. The equation of the straight lines joining the orign to the points of
intersection of  the line xr—y=2 and the  curve
5xz? + 12zy — 8y® + 8z — 4y + 12 =0 are y = + 2z. Are these lines

equally inclined to the axes?

o Watch Video Solution

3. The lines joining the origin to the points of intersection of the line
4z — 3y = 10 with the circle 22 + y? + 3z — 6y — 20 = 0 are mutually

perpendicular.

o Watch Video Solution

4. The lines y = mx bisects the angle between the lines

az® + 2hzy + by = 0if L(1 — m?) — m(a — b) = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_eRAGYAmpbNtj
https://dl.doubtnut.com/l/_uSgbaKn37xba
https://dl.doubtnut.com/l/_ejRtTHH902kS
https://dl.doubtnut.com/l/_WiWimVnb93im

5. The straight lines az® + 2hzy + by> = 0 have the same pair of

bisector as those of the lines given by a*z? + 2h(a + b)zy + b’y* = 0

o Watch Video Solution

Problem Set 1 Fill In The Blanks

1. The product of the perpendicular drawn from the point (z1, y;) on the

lines represented by az? + 2hxy + by? = O'is .......

° Watch Video Solution

2. If the lines joining the origin to the points of intersection of the lines

2

y = mz + ¢ will the circle 2% + y* = a® be perpendicular then the

required condition is........

° Watch Video Solution



https://dl.doubtnut.com/l/_WiWimVnb93im
https://dl.doubtnut.com/l/_bcx9ifRtaKWt
https://dl.doubtnut.com/l/_FwoXR08DBvMc
https://dl.doubtnut.com/l/_zY0eWIQG7yvN

3. The equation to the pair of lines passing through origin and
perpendicular to

2z + 5zy + 2y + 10z + 5y = 05 .

° Watch Video Solution

Problem Set 2 Multiple Choice Questions

1LIf 22 —3zy+ My® + 3z —5y+2=0 represents a pair of straight
lines, then the value of A is

A1

B.4

C.3

D. 2

Answer: D

| ° Watch Video Solution


https://dl.doubtnut.com/l/_QKT8yNy6QW1Y
https://dl.doubtnut.com/l/_bZzL85aIn6Qj

2. I the equation 12z — 10zy + 2y + 11z — 5y + A = 0 represents a

pair of straight lines then A =

A1l
B.2
C.3

D. none of these

Answer: B

° Watch Video Solution

3. 22 + kyy® + 2koy = a® represents a pair of perpendicular straight

lines I

A.klzl,kgza

B.klzl,kQI —a


https://dl.doubtnut.com/l/_bZzL85aIn6Qj
https://dl.doubtnut.com/l/_bmu5o6sygq67
https://dl.doubtnut.com/l/_lDHmTGHWe9Fx

C.klz —1,k2: —a

D.klz —1,k2:a

Answer: C::D

o Watch Video Solution

4. The equation az® 4 by® + Az + Ay = 0, (X # 0) represents a pair of

straight lines if

Ab+c=0
B.c+a=0
Ca+b=0

D. none of these

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_lDHmTGHWe9Fx
https://dl.doubtnut.com/l/_mvnSXosu5ev1
https://dl.doubtnut.com/l/_T8HzRJvQRLyK

5 If kz® + 10zy + 3y* — 15z — 21y + 18 = 0 represents a pair of
straight lines, then k=

A3

B.4

c.—-3

D. none of these

Answer: A

o Watch Video Solution

6.The four straight lines given by the equations 122% + Txy — 1202 = 0
and 12z% 4+ 7Tzy — 12y> — z + 7y — 1 = 0 lie along the sides of a

A. square

B. parallelogram

C.rectangle


https://dl.doubtnut.com/l/_T8HzRJvQRLyK
https://dl.doubtnut.com/l/_wqpO4aP2lbuY

D. rhombus

Answer: A

° Watch Video Solution

7.The equation
2,2 2 2 2 _
xy® — 2zy° — 3y° — 4x"y + 8xy + 12y = O represents
A. a pair of lines
B. a pair of lines and a circle
C. a pair of lines and a parabola

D. four lines forming a square

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_wqpO4aP2lbuY
https://dl.doubtnut.com/l/_xo3IvZ5qiF7I

8.The three lines given by 3° — 9z%y = 0 form a triangle which is

A. equilateral
B. isosceles
C.right angled

D. none of these

Answer: D

o Watch Video Solution

9.The equation y2 —z? 422 —1=0, represents

A. a pair of straight lines
B.acircle
C. a parabola

D. an ellipse


https://dl.doubtnut.com/l/_Ibd4TZmzakFM
https://dl.doubtnut.com/l/_g70LeLEL0aHm

Answer: A

° Watch Video Solution

10. The quadrilatera formed by

zyt+tzrz+y+1=0zy+3z+3y+9=_20is

A. parallelogram

B. rhombus

C.rectangle

D. square

Answer: D

the  pair

of

lines

° Watch Video Solution

1. The circumcentre of the triangle

xy+2x+2y+4=0andx+y+2=20is

formed by

the

lines


https://dl.doubtnut.com/l/_g70LeLEL0aHm
https://dl.doubtnut.com/l/_Q5zIvdV6ppeZ
https://dl.doubtnut.com/l/_UYl4T7cBvdWG

A. (0,0)

B. (-1,-1)

C.(-1,2)

D. (-2,-2)

Answer: B

o Watch Video Solution

12.fzy+z+y+1=0,z+ ay — 3 = 0are concurrent then a=

A3

B.4

C.2

D. none of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_UYl4T7cBvdWG
https://dl.doubtnut.com/l/_xwsmdHxHrfvq

13. If by rotating the axes through an angle 8 the general equation of
second degree
ax? + 2hxy + by® + 2gx + 2fy + ¢ = 0 s free form the term of xy, then

tan 260 is

a—2>
2h
2h

"a+b

a+b
2h

2h
a—2>b

Answer: D

o Watch Video Solution

14. The equation 6z —zy — 12y — 8z + 29y — 14 =0 represents a

pair of lines and angle between them is


https://dl.doubtnut.com/l/_xwsmdHxHrfvq
https://dl.doubtnut.com/l/_kEQ2IpRwKtyO
https://dl.doubtnut.com/l/_Uio6miPg9Qnz

3
-1
B. tan (—4>

C.nm/4

D.7w/3

Answer: A

o Watch Video Solution

15. If the equation 2z? — 3zy — ay® + & + by — 1 = 0 represents two
perpendicular lines (a,b) is

A (2,3)

B. (3,2)

C.(-2,3)

D.(2, —9/2)

Answer: A::D



https://dl.doubtnut.com/l/_Uio6miPg9Qnz
https://dl.doubtnut.com/l/_FhG68kyYb5h9

| ° Watch Video Solution

16. The equation of second degree

22 + 2 2zy+ 2y + 4 + 42y +1=0

represents a pair of straight lines, the distance between them is

A4

B.4//3

C.2

D.2/+/3

Answer: C

° Watch Video Solution

17. The distance between pair

922 — 24zy + 16y? — 12z + 16y — 12 = 0is

of parallel lines


https://dl.doubtnut.com/l/_FhG68kyYb5h9
https://dl.doubtnut.com/l/_H3GIRSOtvX4F
https://dl.doubtnut.com/l/_ssn7nZb8mz6k

A5

B.8

| ot o] oo

Answer: C

o Watch Video Solution

18. The angle between the straight lines 2> — y?> — 2y — 1 = 0'is

A.90°
B.60°
C.75°

D.36°

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ssn7nZb8mz6k
https://dl.doubtnut.com/l/_nqregRLf7mnt

19. If the angle between the two lines represented by
22> + 5xy + 3y> + Ty + 4 = Ois tan~ ' m, then m=

Al/5

B.1

C.7/5

D.7

Answer: A

o Watch Video Solution

20. If 22 — 3zy + A\y® + 3z — 5y + 2 = 0 represents a pair of straight

lines and @ is the angle between them, then cos ec’d =

A3

B.9


https://dl.doubtnut.com/l/_nqregRLf7mnt
https://dl.doubtnut.com/l/_2omofg02EaAu
https://dl.doubtnut.com/l/_g1TfeXI0l3wf

D. 100

Answer: C

° Watch Video Solution

21. The point of intersection of two lines given by

2% — 5xy+ 2y — 3z +3y+1=0is

A11
"\2’3

(=7 7)
C( 11)
373
D(l l)
3’ 3
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_g1TfeXI0l3wf
https://dl.doubtnut.com/l/_LzwDlqbWxUbM
https://dl.doubtnut.com/l/_ejz8HS0RSaVT

22. The equation 8z% + 8xy + 2> + 262 + 13y +15=10 represents a

pair of parallel straight lines. The distance between them is

T
V5
V7

B. —
5

T
25

D. none of these

Answer: C

o Watch Video Solution

23.If the equation az?® + 2hazy + by® + 29z + 2fy + ¢ = 0 represents a

pair of parallel lines, then

alo_b_f
h h g
g o _h_ f
h b g
a h g
C—=—===
h b f


https://dl.doubtnut.com/l/_ejz8HS0RSaVT
https://dl.doubtnut.com/l/_ZSRrwIXygY0o

D. none of these

Answer: C

° Watch Video Solution

24.If the equation az? + 2hxy + by® + 29z + 2fy + ¢ = 0 represents a
pair of parallel lines, then
g% —ac

"\ h2 + a2
2

<
|

o

o

B.2, | ———
a(a +b)
g% + ac
a(a+b

R

g + ac
a(a+b

D.2

e

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZSRrwIXygY0o
https://dl.doubtnut.com/l/_KjBMSk2Zb6yi

Miscellaneous Exercise Matching Entries

1. Match the entries of List A and List B
List A
a) The Lines joining the points of intersection of the line 4x-y=10 with t

) The two lines given a%z? + 2hzy + b*y?> = 0 are such that slop of o
c) Iftheequation 12z? — 10zy + 2y? + 11z — by + A = 0 represents :
d) If 22 —3zy+ (A\)y? + 3z — 5y + 2 = 0 represents a pair of straigh

° Watch Video Solution

2. Match the entries of of col. | with those of col. Il.

The lines given by left hand side in col. | have the property mentioned in

col. 1.
Column } Colamn 1l
[ap wx" & 8ap —bp” - w4+ By - 1=0 P} parallel
() 302+ Mxp +By” -ABx- 1y +B=0 fq) perpendicolar
[z} s 4 41k H'u-': ~Mix=-11y +85=0 Iry 1, =8/8
(dy B’ + tdxp +0y" - Tx -7y + 1 =0 (8l I, =1/0

° View Text Solution

Self Assessment Test


https://dl.doubtnut.com/l/_pMu4ngnbI1QT
https://dl.doubtnut.com/l/_oFCr59XKpc7I

1. Separate equations of liens, for a pair of lines, whose equation is
z? + Ty — 12y2 = QOare

Az+4y=0andz +3y=20

B.2r —3y=0,z —4y =0

Cx—6y=0andz —3y=20

D.z+4y=0andx —3y=0

Answer: D

o Watch Video Solution

2. The gradient of one of the lines given by az® + 2hzy + by? = 0 is
twice that of the other, then

A h* = ab

BBh=a+b

C.8h% = 9ab


https://dl.doubtnut.com/l/_8gmmxFKQ8nYF
https://dl.doubtnut.com/l/_bUQfCk79ahk9

D.9h% = 8ab

Answer: C

° Watch Video Solution

3. The values of A for which the equation z*> — 3> —z — Ay —2 =0
represents a pair of straight lines are

A3, —3

B.—3,1

C.3,1

D.—1,1

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_bUQfCk79ahk9
https://dl.doubtnut.com/l/_dufpuxLsvuof

4. The acute angle between the lines joining the orign to points of

intersection of the line 1/3z + y = 2 and the circle 2° + y* = 4is

now >

o
o3 N3 w3 &~

Answer: B

o Watch Video Solution

5. The angle between the lines represented by the equation

4a% — 24zy + 11y? = O are


https://dl.doubtnut.com/l/_ybYv0XIWO1Fu
https://dl.doubtnut.com/l/_sf8HxReS9bB5

D. none of these

Answer: C

° Watch Video Solution

6. Condition that the two lines represented by the equation

ax? + 2hzy + by® = 0to be perpendicular is

Aab= —1
B.a+b=0
Ca=1b
D.ab=1
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_sf8HxReS9bB5
https://dl.doubtnut.com/l/_uAgnhQfuK6dm

7. Distance between two lines represented by the pair of straight lines

2?2 —6xy+9y° +3x —9y—4=0is

° View Text Solution

8. The distance between the pair of parallel lines
2 2 2 _
x® +2xy+ vy —8ax + 8ay — 9a” =0
A.2,/5a
B. /10a
C.10a

D. 5v/2a

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_PRrqdQxNCQQR
https://dl.doubtnut.com/l/_Dk3VoAHqareD

9. The equations to a pair of opposite sides of a parallelogram are

22 — 5z 4+ 6 =0 and y? — 6y + 5 = 0. The equations of its diagonals

are

Arz+4y=13,y=4x -7

B.dr +y=13,4y=2 -7

Clde+y=13,y =4z — 7

D. none of these

Answer: C

o Watch Video Solution

10. If the bisectors of the

z? — 2qzy — y? = O then

Apg+1=0

B.pg—1=0

lines

—2pzy —y? =0 be


https://dl.doubtnut.com/l/_Gy1eb90fzTvY
https://dl.doubtnut.com/l/_0XWkYsTJ3SJj

Cp+qg=0

D.p+qg=1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_0XWkYsTJ3SJj

